H £ 0l & AF & S

Al A

SX0l o3l2Y U S HBH Us N
2SS 0|32Y U AR =X
SA -3 - A(3) - MISA - B85 N3
EENEE 1,974,599 1,975,887
S8N0l o5|2Y U ¥BE M2 Ust N 1,923,105 1,923,747
e 9J32Y L FAR =7 776,180 776,000
P EEEEEEES 338,480 349,300
201 LBr2SY| 217,700 206,700
01 AR 22lt] 167,350 176,350
O] 0 9,000
OXAAAS DS 02! 0 9,000
202 01t 43,400 44,800
01 201 11,400 12,800
023 gex 3,600, 0002 3,600 5,000
203 IR TIY| 6,580 7,000
CEESCEE 6,580 7,000
0% g2z 6,580, 0002 6,580 7,000
Nas AE 22 437,700 426,700
201 Lst2gy| 218,700 206,700
01 AlR22lt] 193,700 181,700
OETETES 4] 163,700 173,700
OUMAISISI QHLY BT} 5,000, 0002 5,000 15,000
0ZBS Yy BU= Y
22,000,0002! 22,000 0
202 01t 7,000 8,000
01 2UH0HH| 7,000 8,000
DEEECR-EESIE= 7,000, 0002 7,000 8,000
JEE NAS FAB HBH s 85,726 81,000
AYRE 2T U AVHE 2 85,726 81,000
201 Lst2 Y| 64,618 58,800
01 AR 22lH| 50,618 54,800
OABBENS H2XA Y DS
15,418,0002 15,418 19,600
03 A2t 14,000 4,000
OMEI2 &0l B3| =7
10,000, 0002 10,000 0
202 01t 19,108 20,200
01 2LH0iH| 19,108 20,200
OETEEE= 2 12,108, 0002 2,108 13,200
OARIY Y 5lo= =z 49,482 51,180
EEEBEEIE 49,482 51,180
201 LBr2Sy) 45,282 46,980
01 AR 22lt] 43,082 44,980
COEIRIER =1 14,782 16,480
OOIARIS (HIS], LIS, 2 E5]) AREX
1,302, 0002 1,302 3,000
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